Y 97t @18 / RAILWAY RECRUITMENT BOARDS

[Participant ID
Participant Name

Test Center Name

Test Date 31/07/2021

Test Time 3:00 PM - 4:30 PM
Subject NTPC

* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.

H € U ot/2008 - w & O - CEN01/2019- NTRC

Q1 fyg E9aa @ '3 AEeS I IR (a Child of War)' & #TF & ST ST &7
e K1 gEas (UNO)

v 2 ST 3% e (League of Nations)

X s TR (UNESCO)

X+ gf=8% (UNICEF)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891110333
94891141329
94891141330
94891141332
94891141331
Not Answered




Q.2
A FHRA & FESHR F FEF FROT F47T 417

e X1 sad JaRds wY A w@EAET O
X 2

SH 3T ¥ @id oo & oell offeidd T TR & & el & v I

V' 2 g HTOET & T mera Wfer 9
X 4 B AT F Well ST HeJoar 7gr o

Question ID : 94891110319
Option 11D : 94891141273
Option 2 ID : 94891141276
Option 31D : 94891141274
Option 4 ID : 94891141275
Status : Answered
Chosen Option : 3
Q3 wF uT, T AR TR aE S A W Ba AT M @ A Ay A
T H S T g SeE?
Ans 1. 30
<275
V'3 45
< 4 80
Question ID : 94891110159
Option 11D : 94891140633
Option 2 ID : 94891140635
Option 31D : 94891140636
Option 4 ID : 94891140634
Status : Answered
Chosen Option: 3
Q.4  3FR-3E-EITer TE T 39 o 31 SR FATET TE g FAage @ A AE g
FUE ¥ w9 A & @ 7 Teatetee § ¥ R 97 3 e o o
Ans
X . A3 TEH
X 2 AT SEAIR-38-81 Hed=ar
X 3 AOTEA qEFAe
v o TATA-3E-81 AThd
Question ID : 94891110318
Option 11D : 94891141272
Option 2 1D : 94891141270
Option 31D : 94891141269
Option 4 1D : 94891141271
Status : Not Answered

Chosen Option :




Q5 Iz o ¥ oW g A AT, B 20, 25, 35 Ak 40 ¥ R w W s 15, 20,

30 3flr 35 9w =T AN

A of 11395
X 2 7265
x5 1240
x4 1860

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891110150
94891140600
94891140598
94891140597
94891140599
Answered

1

° oftrar @ vger AR Nueey =F ¥ FiF @ aw?

Ans X1 @EE (CIRUS)
W 2 3°HT (Apsara)
« 3. ¢a (Dhruva)

X 4 STl (ZERLINA)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891110342
94891141367
94891141366
94891141368
94891141365
Answered

3

Q7w T #r smgfy 50 Hz 3R = 36 mis ¥ 3 o # e W Rifdw

Ans of1.0.72 m
X2278 m
X3 0.36 m
<4139 m

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891110315
94891141258
94891141260
94891141257
94891141259
Answered

3




08 ZEEr (UNESCO) & @R, TeRT #1 aist & gor fae o §2

Ans

X138
V2 34
X3 36
X4 32

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891110310
94891141240
94891141238
94891141239
94891141237
Not Answered

Q.9 et # -3 T anfiEs wavt ¥ ee & ST F ¥ S o aftss aa

o=t & g% & 1 509ka & e Seer &7

Ans X
. @fETe
v afms
X 3. g
X4 FiemH
Question ID : 94891110311
Option 11D : 94891141242
Option 2 1D : 94891141241
Option 31D : 94891141244
Option 41D : 94891141243
Status : Answered
Chosen Option : 1
Q.10 Fer gz #1 fEwr #1 G gy o #1819 W a9 FAe wiE F7 ged aRged gar R T o
few-foem w9 wifafyw woe sk & e a7 AT
Ans x 1. ﬁ -Sl
v g aR/
X s fgeg on
X 4 Feed
Question ID : 94891110308
Option 11D : 94891141230
Option 2 ID : 94891141229
Option 3 1D : 94891141231
Option 4 ID : 94891141232
Status : Answered

Chosen Option :

1




U & S ofErr gEImet #r e FE F

7 5 2
10" -8 -3
Ans ¥ 5 ?
o 1ot g, o
10 —-8' -3
X2 5 7 2
-8’ 10" -3
. 2 5 7
-3 -8" 10
. 7 2 5
10" —-3" -8
Question ID : 94891110146
Option 11D : 94891140583
Option 2 ID : 94891140582
Option 3 1D : 94891140581
Option 4 ID : 94891140584
Status : Answered
Chosen Option : 4
Q.12 & qow, THT AR WA 57 g% 30 OEd ¥ 59 a% vAT @ A # sEatd | @ A8 F wiiAs
F Tar & gewelldr Ha9 @ oM FE #T W ¥E UHAT 1 Bieas ¥ T g9y 27
Ans X1 ATAT
X 2 gl & REr
V' O o
&K 4 ==
Question ID : 94891110777
Option 11D : 94891143105
Option 2 ID : 94891143108
Option 31D : 94891143107
Option 4 1D : 94891143106
Status : Answered
Chosen Option : 2




Q.13 ﬁ;n’rqfrmﬁm%mamsﬁﬁmm‘rgm 85% BT U & 3echot gu T 76% orw Eeh AR
ﬂﬁaa’lﬂ‘%#aﬁﬁﬂ‘rgmaﬁcmmamwﬁaaﬁﬁﬁgqﬁ,maﬁﬁaﬁrsmmmaﬁﬁm

Ans o 1. 400
X 2 44
< 3100
X 4 158
Question ID : 94891110154
Option 11D : 94891140613
Option 2 1D : 94891140614
Option 31D : 94891140615
Option 4 1D : 94891140616
Status : Answered
Chosen Option : 1
Q.14 e 7w Fuet iy st # cormEe 98 @t @ F A @ A9 @ Ty afts s w
FUAAT FT AT FIT 87
T
2. o I, T g
b. F& TEN, =% U5 =T §
c. FF T, = UE FEe A9
fors
I Fo T, o 78w g
Il. & =% U5 e, T #
. =¥ = = e, T 9
Ans
v i FaT lll 9T T E
X 2 FIT || I FAT &
X3 FIeT | UTeT AT E
X3 St & oo =
Question ID : 94891110786
Option 11D : 94891143144
Option 2 ID : 94891143142
Option 3 ID : 94891143141
Option 4 ID : 94891143143
Status : Answered

Chosen Option :

1




O Traffd & ¥ Fi9 @ HoTwie Soaryg TeuH ¥ Tafd A8 §?

Ans

X 1. #ifer@ (Black Carbon)
X 2. ETSSIFAIFET

X3 e

v 4 AT

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

194891110335
1 94891141337
1 94891141339
194891141338
194891141340
: Not Answered
Chosen Option :

Q16 st T &1 3 ¥ FiA T He0E TS F Fhehe § Fafod 87

e o aretE 56
X 2 3= 54
X 5 3T 55
X 4 HeTetE 53

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

94891110328
94891141310
94891141312
94891141309
94891141311
Answered

2

Q.17 ga $r ygdr geafya gar . defer v ez seEue oftwg (CSIR) g Refea & %

oY)
Ans X 1. weiffrerer (Ergoapiol)
X 2 ARIEA (Norodin)
W 3 FurFaTala (Methaqualone)
X 4 @terad (Laudanum)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891110343
94891141372
94891141371
94891141370
94891141369
Not Answered




" BeFE (Linux) 4T 72
s X1 B

K 2 grEaE

< 3 gieaRR

v 4 TR R

Question ID : 94891110338
Option 11D : 94891141350
Option 2 1D : 94891141352
Option 31D : 94891141351
Option 4 ID : 94891141349

Not Attempted and
Marked For Review

Chosen Option : --

Status:

19 fGEeR 2020 T WA FAER F HTER, REFEA F Towww B §2
K. aEreTe RfgE

X 2 SfFarg gerags afesr

X 3 Jrdr. i sealT

v 4 IET 9O

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891110305
94891141219
94891141217
94891141220
94891141218
Marked For Review
1

W areiT SR # sEeoe 280 T ¥ AR deRE B2

A o faeg amEeT
X 2 e
X 3 FHATAT
< 4 fRreT
Question ID : 94891110327
Option 11D : 94891141305
Option 2 ID : 94891141307
Option 31D : 94891141306
Option 4 1D : 94891141308
. Not Attempted and
Status : Marked For Review
Chosen Option : --




Q21 =g fyweq & 90 HY, forww AW g ¥ T Y ¢, S W TG F TE 9E F

E\'&-‘ﬂa‘aﬁ (Microscope) : E,g?:%ﬁ (Telescope) :: 3Tade 7omg (Magnifying Glass) : ?

A X 1. grsteeT (Projector)
X 2. AW (Camera)
X 3. FTSEIERT (Kaleidoscope)
v EI'IEF-IW (Binoculars)

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status:

Chosen Option :

1 94891110803

1 94891143209
1 94891143211
1 94891143210
194891143212

Not Attempted and
Marked For Review

Q.22 v e F Yo B T g% AW it M ¥ 5@ T & 99 3 # 5 h 45 min e &
WA 797 ¥ o 9% S oXF Er ¥ A, & 3% 2 h FF AT o9 O 9% gt aXw Yee Sar

¥, 30 = I ¥ o gAY ween?
Ans — X'1.11 h 30 min
v 2 7 h 45 min
<311 h 45 min
/< 47 h 30 min

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891110163
94891140650
94891140649
94891140652
94891140651
Answered

4

2 o Fr A ¥ T ¥ NE T T @ 9T B B2

K ErE
X2 st
v g
X+ wrdm

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891110312
94891141247
94891141248
94891141246
94891141245
Answered

3




% 1907 F sET TET FEE & 3T HiT A2
Ans o< 1. TR TSI T

X 2 3P = TTSAT

v s grafegrd Oy

< 4 grersETg AR

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

194891110317
194891141268
1 94891141266

1 94891141265
1 94891141267
. Answered

Chosen Option :

1

Q.25 (54.542% — 45.4582)
The value of :
{(61.738 — 52.654)
Ans o 1. 100
X 2 32458
X3 67.542
< 4 35.084
Question ID : 94891110151
Option 11D : 94891140603
Option 2 ID : 94891140602
Option 3 ID : 94891140601
Option 4 ID : 94891140604
Status : Answered
Chosen Option : 3
Q.26 =g o ¥ oW WIpd FEA w9 AT, BEE 3600 F T swa W e FEwr o7 o @
Ans  of 1. 450
< 2 250
<3100
& 4 300
Question ID : 94891110148
Option 11D : 94891140592
Option 2 ID : 94891140590
Option 31D : 94891140589
Option 4 1D : 94891140591
Status : Answered
Chosen Option : 1




VY orm SeEmEAeT e & Tuegiadl = wE gAY ¥ qUe a3 £
K R iR @

A2 el 3R AR ol s@fET

K o AT WHEAT AR sSAfr & gATr g

v aRa 3R sfee

Question ID
Option 1 ID
Option 2 ID
Option 3 ID

194891110326
194891141302
194891141304
194891141301
Option 4 1D : 94891141303
Status : Answered
Chosen Option : 4

Q28 #fr 5 AT FT FEIUT (variance) 0.64 ¥, ar 9% AGF fa=ed AF FaT)

s X132

< 2 564

v3 08

X< 40128
Question ID : 94891110168
Option 11D : 94891140670
Option 2 ID : 94891140672
Option 3 ID : 94891140669
Option 4 ID : 94891140671

Status : Answered
Chosen Option: 1

Q29 GrafefeT & ¥ 5 o7 g # 99 UF ET ¥ Y RElE g € & 9 F o B 5
ST &2

V1 HTEgAE
X 2. derETEer
X 3. ZREeTger
X 4 FAIgAEST

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891110314
94891141253
94891141254
94891141256
94891141255
Answered

1




Q.30 wefer v FW F ATUEA 2:00 T 71 T A E IR 75 km/h F TE T FR A gO AAe TH =
& AT e £, S 3EF T @ 800 km T §1 FF HWES 3:00 T HUA TSN THA F P BT §
AR AERE T 3uY s F T Fgar 1 W 9T UF 39T & ¥ 90 km/h FT A @ HAmer Grer

m%mﬁ?ﬁaﬁﬁmm%lm%ﬁﬁmraﬁmw

A HARTES 8 =
X 2 FAWEA 8:30 o4
X3 HWES 9§
X4 HWES 7§
Question ID : 94891110162
Option 11D : 94891140646
Option 2 ID : 94891140647
Option 3 ID : 94891140648
Option 4 ID : 94891140645
. Not Attempted and
Status : Marked For Review
Chosen Option : --
Q31 what is the traditional classical dance of Assam?
Ans 1. Chhau
< 2 Bihu
« 3. Kathak
o 4 Sattriya Nritya
Question ID : 94891110309
Option 11D : 94891141234
Option 2 ID : 94891141235
Option 31D : 94891141236
Option 41D : 94891141233
Status : Answered
Chosen Option : 2
Q32 3% 3ot 97 g &, 5% FaERor ¥ Tt SERT A B
Ans
v 1. 50, 3R NO,
X 2 NH, 3T S0,
X 3 Cco 3k co,
K 4 4T & FHOm
Question ID : 94891110334
Option 11D : 94891141333
Option 2 ID : 94891141335
Option 31D : 94891141336
Option 4 ID : 94891141334
Status : Answered
Chosen Option : 2




Q.33 Select the number that can replace the question mark (?) in the following series.

Ans

4,10,22,40,64.?

v 194
< 2 80
< 390
<482

Question ID
Option 1 ID
Option 2 ID
Option 3 ID

Status

194891110784
194891143133
194891143134
194891143136
Option 41D :

94891143135

. Answered
Chosen Option :

1

Q34 Ru av 9 wesdt F @, T T @ @ dog § 3R v arwea ¥ e F owwa w0

Ans X . R e
X 2 gEeT & TSAAT
“34 w
X 4 ST
Question ID : 94891110795
Option 11D : 94891143178
Option 2 ID : 94891143179
Option 31D : 94891143180
Option 4 1D : 94891143177
Status : Answered
Chosen Option: 3
Q35 grifeeg=s (Formaldehyde) &1 9o a8 & &8 R&eq & a1 =ar &2
Ans x 1. : ﬁ
< 2 IFRaER
J& =E]
X 4 HwiTFarHEE
Question ID : 94891110316
Option 11D : 94891141263
Option 2 ID : 94891141261
Option 31D : 94891141262
Option 4 1D : 94891141264
Status : Answered
Chosen Option : 4




a3 T, freg 1 g w99 O
Ans x1_ g *

< 2. I g-aTer
X 3. AT-$ETH

W 4 TTa-aTTeTeer

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option

Question ID :

94891110325

194891141299
194891141300
194891141298
194891141297
. Answered

)

Q.37 fagay 2020 F% GISH SAAFN & HHN, ST AT Faferaws oo fwmw qftwor (IRDA)
emeT T 7

Ans X1 SR, T FAR
X 2 gfeer fag
X s Frog. g I9r
v o TS =g gl

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status:

Chosen Option :

94891110304
94891141214
94891141216
94891141215
94891141213

Not Attempted and
Marked For Review




Q.38 2019 #, gor-foamdr e F ToUTATR FERUSF-IETHE3 AT U FEATA HEET weieT
HF FHA TS A TR $ O et ve Ford Sfamfiar # €25,000 #r i @&

e qrEER S

o 3R TEadeE
K 2 AL F[EAT
X3 Fua Rer
X 4 HEATE HTET

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891110307
94891141225
94891141227
94891141228
94891141226
Not Answered

Q.39 17 3y 520 & &7 ey T 37 T FEAHT F AT AT A€, F 6 ¥ BT &

Ans 121912
V2 22428
< 3. 22440
< 4 22446

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891110149
94891140596
94891140594
94891140593
94891140595
Not Answered




QA0 FrRr T aT IR A R Er F I m mmt f e s e & AR P

Y .

Tt 97 T S ¥, N o 97 @ AY @7 ¥ T o maeer §

ey
A. FINIE AOTRER WAT 78 & T g
B. FINTTS AARIER WAT T T £l

K. urom A 3R aroT B @E R #

< 2 Faw grom A AT B

X 3 7 ar arom A fAfga £ 3t 7 & anom B AfeT 2

v 4 Faer aror B RfgT 1

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891110781
94891143123
94891143121
94891143124
94891143122
Answered

4

Q4 RISAT (T =AfShT Weamze) Fr gE0T s ¥ BrEd e@nr fRar srr ar?

Ans 1. PSLV-C43
v 2 PSLV-C48
< 3. PSLV-C46
< 4 PSLV-C37

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891110330
94891141318
94891141320
94891141319
94891141317
Not Answered




Q.42 2018 #, & v Fem T IV AT A AHF HEgs U o ST 3 o miat &+
AR o & e R &= # i 59 Reedt & TErer & Ryl w awaiE seegEn

AR G F B GRAUT T A

Ans X Yer T
v 2 I #ee
X 3 & Heg
X4 g oy
Question ID : 94891110331
Option 11D : 94891141322
Option 2 ID : 94891141321
Option 31D : 94891141324
Option 4 ID : 94891141323
Status : Answered
Chosen Option : 2
Q.43
10.8, 28.8 3T 36 & AgeadH FHUEA® (HCF) A1F HIi=v|
A X136
<2 28
X328
v+ 36
Question ID : 94891110145
Option 11D : 94891140580
Option 2 ID : 94891140577
Option 31D : 94891140578
Option 4 ID : 94891140579
Status : Answered
Chosen Option : 4
Q.44 v zETem, 26.40 WY HeX F w9 W gy wiear &1 97 3w O Genar § v T 28 wfy
T F 9= o =T ¥ 3R 39 TN 9% 37.5% Y FAET 2 a&qama#wgw, 3 T
3R g F s A BT
Ans x 1. 1
<21
S X
v
Question ID : 94891110160
Option 11D : 94891140637
Option 2 ID : 94891140638
Option 31D : 94891140640
Option 4 1D : 94891140639
Status : Marked For Review

Chosen Option :

3




Q.45 k 7 37 7 79 AT, BEs B gl Fem 2x+ky= 11, 5x-Ty =5 & F12 g T @

Ans —14
.
5
13
X2 =
5
—13
p G R—
5
—16
p O N
5
Question ID : 94891110166
Option 11D : 94891140663
Option 2 ID : 94891140661
Option 3 1D : 94891140662
Option 4 1D : 94891140664
Status : Answered
Chosen Option : 1
Q.46 16% wmsT TX TR TR 1 AT ET 240,60 ¥, T 3W TG F T 5T 7T Hw
Ans X1 347
<2 340
X3 322
v 335
Question ID : 94891110155
Option 11D : 94891140618
Option 2 1D : 94891140619
Option 31D : 94891140617
Option 4 1D : 94891140620
Status : Answered
Chosen Option : 4




Q.47 vw ¥ & 2 @w, 3 & 3 2 A AR E) o= @ anfRoe w9 @ O R T e ¥ R g

e F A g F e F g f wRear W Hew?

Ans 5
K Z
7
10
;2.
14
6
X 3
21
10
v —
21
Question ID : 94891110169
Option 11D : 94891140673
Option 2 ID : 94891140676
Option 31D : 94891140674
Option 4 ID : 94891140675
Status : Answered
Chosen Option : 1
Q.48 = fsor F 85 L A # gy A e 1 e 27 1 7§ 3EH e o i femn s i
@ik 7T fFeer & g A 9= F AT 3 1 8 S
Ans X115 L
v25L
X38L
K413 L
Question ID : 94891110158
Option 1 1D : 94891140630
Option 2 ID : 94891140631
Option 3 ID : 94891140629
Option 4 1D : 94891140632
Status : Answered
Chosen Option : 2




Q49 37 fymes F1 T F S AT ST F TARES (?) F T W 3T T 2
D2Z, F7X, C22V, E67T, ?

ans X1 A202Q
v 2 B202R
< 3 C2028
< 4 B102R
Question ID : 94891110788
Option 11D : 94891143149
Option 2 ID : 94891143152
Option 3 1D : 94891143151
Option 4 ID : 94891143150
Status : Answered
Chosen Option : 2
Q.50 3o 3y R F T o gAateEn £ A Ier, IR w230 ¥ & & o 9WR F I, IR0T & 9
T U § &7 I omi & SRt ofy e, wer w110 & & § AT 3T & 9w, 9T % 9
T GO & I T G g S| 9HE #, R0 AR 9T A @ 900e & 99 Fae fhae
g (2 H) §
Ans X 1. 34, 72
X 2 34, 62
W3 62, 34
< 4 56, 78
Question ID : 94891110152
Option 11D : 94891140608
Option 2 ID : 94891140607
Option 3 ID : 94891140605
Option 4 ID : 94891140606
Status : Answered
Chosen Option: 3
Q.51 AT 3TN HFEUE s (ISRO) o af # 9T F 9ES AEgET A e & ogw
T @ e e e g
Ans  of 1. 2022
< 2. 2027
x 32024
< 4 2025
Question ID : 94891110332
Option 11D : 94891141326
Option 2 ID : 94891141328
Option 31D : 94891141325
Option 4 ID : 94891141327
Status : Answered
Chosen Option : 3




Q.52 37 Fwar @ 99U F, S eAraaT Avh # wea REa () F BT WA gF4r B

541, 629, B52, 618, ?

ans X1 591
X< 2 673
v 2 563
< 4 553
Question ID : 94891110776
Option 11D : 94891143102
Option 2 ID : 94891143103
Option 31D : 94891143104
Option 4 ID : 94891143101
Status : Answered
Chosen Option : 3
Q.53 frdr Jmwre &1 IREACEE I8, St BT WEE B @EA H s arfae & &9 & offr §, 3w
F T F ST AT §
A
S - -
.9
<2 2w uF
v g\ 9
X 4 grEed O
Question ID : 94891110337
Option 11D : 94891141346
Option 2 ID : 94891141347
Option 31D : 94891141348
Option 4 ID : 94891141345
Status : Answered
Chosen Option : 2
Q.54
o T gEaad T ST gear B
Ans ¢
X e e T H
X 2 o o SIREST ganr 3R 7 & U=I|sT ganr
v Fae oREAT H
X 4 gae & dr o e aanr
Question ID : 94891110329
Option 11D : 94891141314
Option 21D : 94891141316
Option 31D : 94891141313
Option 41D : 94891141315
Status : Answered
Chosen Option : 3




Q.55 uw ¥F F HATF ST F wES 25 m, HEE 12 m 3T TEUE 6 m ¥ 75 3w m? Fr & @ sAEr

et 3t T o7 3T 9 3R oY s #Y A A Srew

Ans X 1. 3512
< 2 3458
< 3 3496
v 4 3558
Question ID : 94891110165
Option 11D : 94891140658
Option 2 ID : 94891140660
Option 3 ID : 94891140659
Option 4 ID : 94891140657
Status : Answered
Chosen Option: 3
Q.56 iz P 97 @sT TF HEH, T AR F oY S @ 2w @I ¢, FEA £ yw ¥ A9w F o & seaae
HI0T 30° §1 9F HEHT, 20 m HAR F AT T6 F 999 3HF o P ZEAT £, A 3eThT FI0T "]
45° g Jre 31 FeaR & 3R AR Rg P & @9 g e #few (V3=1732 #@)?
Ans  X1.27.32 m
< 21464 m
V34732 m
K4227 m
Question ID : 94891110173
Option 11D : 94891140690
Option 2 ID : 94891140692
Option 31D : 94891140689
Option 4 1D : 94891140691
Status : Answered
Chosen Option : 4
Q.57 3T &7 39T AT dT9Ered ST gear F s & fav fRar =mer & it s e i
e K st
v T
< 3. FEH goehr
X 4 T
Question ID : 94891110313
Option 11D : 94891141251
Option 2 ID : 94891141249
Option 31D : 94891141250
Option 4 ID : 94891141252
Status : Answered
Chosen Option : 2




Ans

Q58 frgedr Feg W, STATEIETS Ag® o FET AT - "FAR G § Feb1eT Ter A2
V' AECAT IR

X 2 T&g AT T

X 3 FIER TeasHS Tdd

K 4 gAY T S

Question ID : 94891110321
Option 11D : 94891141281
Option 2 ID : 94891141284
Option 31D : 94891141282
Option 4 ID : 94891141283
Status : Answered
Chosen Option : 3
4% fteer Uz My (Capital and Growth)” FTH® Tras fhee forE?
Ans o ‘
v . A f@@T (John Hicks)
X 2 THR. U (AR Rodon)
X 3 usH TBHY (Adam Smith)
X 4 JFF AT (James Marshall)
Question ID : 94891110339
Option 11D : 94891141354
Option 2 ID : 94891141353
Option 31D : 94891141355
Option 4 ID : 94891141356
Status : Not Answered
Chosen Option : --
Q60 iy awg 1 2832 F Fr W AT AET AW, 3 TEG H 2448 F d9F W A T A F
=T §l 50% & FAW & v 37 I5g # A Aeg o« a9 S afge?
Ans - X1.21,230
v 2. 7960
< 3 2826
< 42900
Question ID : 94891110157
Option 11D : 94891140627
Option 2 ID : 94891140625
Option 31D : 94891140628
Option 4 ID : 94891140626
Status : Answered
Chosen Option : 2




Q.61 fomty dram & WE T g% UF W F se=as Fo7 60° F AR W F+ wer P AR F 15 m H

i W T ¥ Fd & T A= Hifew

Ans - X116 m
X275m
X3 15y3m
V4 30 m
Question ID : 94891110170
Option 11D : 94891140679
Option 2 ID : 94891140678
Option 3 1D : 94891140680
Option 4 1D : 94891140677
Status : Answered
Chosen Option : 4
Q.62 v Rfirse g F, PITA 31 FIST # waer NFPV 3t DFOO fomr =iar #) 33 e s &
TURK & &8 ez formm smeem?
Ans X 1. RSNF
+ 2 RRNF
< 3. RPLE
< 4 REKL
Question ID : 94891110779
Option 11D : 94891143115
Option 2 1D : 94891143114
Option 31D : 94891143113
Option 4 1D : 94891143116
Status : Not Attempted and

Chosen Option :

Marked For Review

Q.63 37 fymey =1 97w S S PR JEer d wARES (?) F T W H FehaT 2

Ans

3A2, 8G7, 18M14, 33523, 53Y34, ?

X 1. 78E57
v 2 78E47
X 3. 78D43
X 4 72F47

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891110787
94891143148
94891143146
94891143145
94891143147
Answered

2




¥ ama B TEe safEee & R aY o & E o

Ans of 1. 1925
X< 21940
31920
X 4 1950

Question ID : 94891110340
Option 11D : 94891141358
Option 2 1D : 94891141359
Option 31D : 94891141357
Option 4 1D : 94891141360
Status : Not Answered

Chosen Option : --

Q.65
o tano = B E oY 293 cot0+ 1 FT AR AT R

1'51.z'§+1
V3i+1
53 -1
=1
Xs.m—_l
2
53 -1
e 1

Ans

p

Question ID : 94891110171
Option 11D : 94891140681
Option 2 ID : 94891140683
Option 3 1D : 94891140684
Option 4 1D : 94891140682

Not Attempted and
Marked For Review

Chosen Option : --

Status :




Q.66 1944 # 31593 #r 3, 3TF T F T F - F T ) 1952 F 3w A g e O

Ans “14 39 El'é'

<230 a¥
<328 F¥
X426 9%
Question ID : 94891110164
Option 11D : 94891140655
Option 2 ID : 94891140656
Option 3 1D : 94891140653
Option 4 ID : 94891140654
Status : Answered
Chosen Option: 1
Q67 A pixel is:
Ans

/< 1. a picture stored in secondary memory
« 2. the smallest resolvable part of a picture
/< 3. a computer program

/< 4. aprogramming language

Question ID : 94891110336
Option 11D : 94891141343
Option 2 ID : 94891141342
Option 3 1D : 94891141341
Option 4 1D : 94891141344
Status : Not Answered
Chosen Option : --
Q68 =7 fymew # IO HY, For@w AW g ¥ T WY ¥, S W TG F TE 9E @ &
gar gl s an : ?
Ans J
- Frer
< 2 BH
< 3 RramEr
X 4 gEer
Question ID : 94891110775
Option 11D : 94891143100
Option 2 ID : 94891143099
Option 31D : 94891143098
Option 4 1D : 94891143097
Status : Answered

Chosen Option :

1




Q69 golve the following.

4 5
ST 2
i1 3 - _(1§X15)_?
7 &t 2
Ans X1 9
v 2 13
r R
1
X 4 15=
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891110153
94891140609
94891140611
94891140610
94891140612
Not Attempted and

" Marked For Review

Q.70 wwar 12401 Fr Bl gewr F Fenfm F@ W, & wewe F w9 F 76 AR A9 & 79 F 13 g7 Far
¥ s T AT

Ans 1047
v'2 163
X3 136
< 4948

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

94891110144
94891140576
94891140574
94891140573
94891140575

Not Attempted and
Marked For Review




Q71 gom, X & T F ufy G F sHear d2T F1 FRY, GoAor ¥ T § GAT N FIA F 967 8,

Torger 7 @ 7 X @ fae @ ge v 27

Ans X1 =TEIT
v 2 ofy
X 3 A
X 4 OeAT
Question ID : 94891110774
Option 1 ID : 94891143096
Option 2 ID : 94891143094
Option 3 ID : 94891143095
Option 4 ID : 94891143093
Status : Answered
Chosen Option: 2
Q.72
. 8 .
If 40 is almost equal to 6.325, then ‘E is nearly equal to:
Ans - X1 1625
v 2 1.265
< 3. 0.565
< 4 2828
Question ID : 94891110147
Option 11D : 94891140588
Option 2 ID : 94891140587
Option 3 ID : 94891140586
Option 4 1D : 94891140585
Status : Not Attempted and

Chosen Option :

Marked For Review




A7 I Rr e R AR s F S oot S el T am S ARa P

Ans

FUA
T F AT W FEr, A AT FW R H ge W &, F 3w wig wle w G
4o

A FrTEr g wlEaT =g §

B. HIFTell TEeT I goT Fle A TEH g g

X 1. Faer arrom A Afga B

X 2 guT A T groT B g =T €

X 3 g7 ar arom A RfeT &, o1 awom B AT B
v 4 Faer aror B RfgT 1

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891110782
94891143125
94891143127
94891143128
94891143126
Answered

3

Q.74 =R afest § ¥ v & seafa e 9oTET (Superimposed Drainage System) & T

Ans

H=oT 3EEI0T 272

X 1. FEAYS
A2 3
X s T
v o GIURET
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891110323
94891141292
94891141289
94891141290
94891141291
Not Answered




a7s 7 HRier AEE TRE FRE e Fr g #

Ans X FIRT BT
X2 aEgE FE
V< TRIRIE Mot
X 4 FAHERES AGHG

Question ID :

Option 11D
Option 2 ID
Option 31D
Option 4 1D

Status

94891110320

194891141279
194891141278
194891141277
194891141280
: Not Answered
Chosen Option :

Q76 A B C.D,EFGIHGITFR L -TedgHisRgmrs B =&
s FA A ) F, G & TS B A, G & @ 3R gy T W #97 £ B, D & W% #w Jt we
WM AMNRBF I A For ama B HEHF S g Wi #1 B Har

TS AET €1 C, B 1 9 g
F & mmer ¢ &1 o s &2

i 1 g AR S B
X2 W5 AT g T T
X 3 g 3N Feeanm e W
X 4 g€ AT Feeam a9

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891110785
94891143138
94891143140
94891143137
94891143139
Answered

4




Q.77 A e el #10 # 12 T F 9@ #X Tt § 3N B 3 33 w1 # 10 foF F 9w = e B
A ¥ IF F, T T A T o oee F #d €, O 98 & feae fom F w3 g smeem?

Ans of 111
<210 :
6
<311 S
4
X412
Question ID : 94891110161
Option 11D : 94891140643
Option 2 ID : 94891140644
Option 3 ID : 94891140641
Option 4 ID : 94891140642
Status : Answered
Chosen Option : 2
Q78 & & & B
IoAT H, 55 U= H AIFasT He fr e AfFaq 22
Ans X 1. TR
X 2 TSEAT
V'3 IeaT W
X 4. A
Question ID : 94891110306
Option 11D : 94891141223
Option 2 ID : 94891141222
Option 31D : 94891141224
Option 4 ID : 94891141221
Status : Answered
Chosen Option : 3
a7 Se-Rfuar @ # g
I=T - HEAH (IFB) gl
Ans «
. geETE
X 2 OSEAT
X 3 SFEH
< 4 FTe
Question ID : 94891110322
Option 11D : 94891141285
Option 2 ID : 94891141286
Option 31D : 94891141288
Option 4 ID : 94891141287
Status : Answered

Chosen Option

|




Ans

K 3T
v 2 fRegarE
X 3. gtEr
K+ 9o

O EEh o wvw PRRE A w e A e b

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891110324
94891141296
94891141294
94891141295
94891141293
Not Answered

15 + 32 x 4 + 8 - 2 & A AIF HIfawl

Q.81 ofy, &7 31 swEr &, F T WA §, X F T Fww ¥ H#R ok qomw 7 A

Chosen Option :

ans K121
<21
<3 15
N
Question ID : 94891110798
Option 11D : 94891143191
Option 2 1D : 94891143190
Option 31D : 94891143192
Option 4 1D : 94891143189
Status : Answered
Chosen Option : 4
Q.82 = wwy #r w@ms, e v U # a4 0 3 0 2 ¥ AR s o My FnE @ amr S
Fme, 3t swdr i & A T I A, & FA AR dER oA SEee I
Ans
o 1. STEET 42.86% A N ST
X 2 smafEcsa @
< 3. ST 13.64% FHH g AT
< 4 TIETHET 26% FH BT FATT
Question ID : 94891110172
Option 11D : 94891140688
Option 2 ID : 94891140685
Option 3 1D : 94891140686
Option 4 1D : 94891140687
Status : Answered

1




Q.83 =zt o Fi o7 e FF TIEN @ 2017 F W #r o wheeT aeer F7 e e 82

" o Tege Few
X 2 SRR TE Tpfas | AN
X3 FR vF faure Feamr Ay
<4 Rreq Ao

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891110341
94891141361
94891141362
94891141364
94891141363
Answered

4

Q.84 35 cm =2 T @ Ira T@ YER W T ¢ F IF Ioa, 3T & Joat T HT g1 DA gear

T BT T T &G AT e (V3 = 1.732 )
Ans X 1.1.856 cm?
/< 2 1.652 cm?
v 3 1.967 cm?
< 4 256 cm?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

94891110167
94891140665
94891140668
94891140666
94891140667

Not Attempted and
Marked For Review

Q.85 ofy gt $r s, Ay Fr FW F 20% S & A Ay F¥ 7, T F A7 ¥ e wfowm w2

Ans X1 20%
<2 15%
<3 22%

2
v 165%

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891110156
94891140623
94891140621
94891140624
94891140622
Answered

4




Q86 R 1w et & ¥ Fia @ Pe=toRT gEmet & g F g a6 32
23, 29 3k 31
Ans X 1. 43
v 2 27
<319
< 4 37

Question ID : 94891110789
Option 11D : 94891143156
Option 2 ID : 94891143154
Option 31D : 94891143153
Option 4 ID : 94891143155
Status : Answered
Chosen Option : 2

T & D W w98 3R RE e gee @ 3ew &
o, @f@e, a9, &7 3k @fm, o= & &
g, e & orer § 3R = & w9 g
e 9T FEr #§ 59 o9 g
qH, e ¥ o g, o afea ¥ &@ gl
STH ¥ GEU HEH o4 Wi 87
Ans x1%?:‘r\
<2 9TH
v RTEe
X 4 graT

Question ID : 94891110790
Option 11D : 94891143157
Option 2 1D : 94891143160
Option 31D : 94891143159
Option 4 ID : 94891143158
Status : Answered
Chosen Option : 3




Ans

: ? : 9rIee (Pilot)

# 1. g (Passenger)

X 2 oA (Ship)
X 3. 3% (Deck)
W o FTgAT (Aircraft)

Q88 3 foped =1 T Y, T Y g § I FEY E, @S @ g WA
[T (Field) : fFEa (Farmer)

Question ID : 94891110791
Option 11D : 94891143163
Option 2 ID : 94891143161
Option 31D : 94891143162
Option 4 1D : 94891143164
Status : Answered
Chosen Option : 4
Q.89 & a1 FF F wuE ¥ ufew i G=tafEe weAt F seaw &fFw
g 3t fan, BE st 3R o ¥ Aew dk ofan, gemer i B Se ¥ S R sk ot
3T 3R Aewes de 1 9 ek st s A §
= ¥ BT 3f¥eas sme SeanEter 37
Ans X
. Hge
v 2 far
X3 3T
<4 grar
Question ID : 94891110792
Option 11D : 94891143167
Option 21D : 94891143166
Option 31D : 94891143168
Option 4 1D : 94891143165
Status : Answered
Chosen Option : 2
Q.90 select the option that is related to the third term in the same way as the second term is related to the first term.
Product : Advertisement :: Professional : ?
Ans X 1. Qualification
/< 2. Contact
V' 3 Resume
/< 4 Name
Question ID : 94891110794
Option 11D : 94891143176
Option 2 1D : 94891143175
Option 31D : 94891143173
Option 4 1D : 94891143174
Status : Answered
Chosen Option : 4




Q.91 @7 gfea ¥ o2 §1 Ak, gee @ o §, e SR & Az &) B, gt @ af € 9fe g @
oI &1 = @9 & gew Sherorr s 2

e o wREr
X 2 gAd
-
X3 faem
<4 fga
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891110800
94891143200
94891143198
94891143197
94891143199
Answered

1

Q.92 Out of the four words listed, three are alike in some manner and one is different. Select the odd one.

Ans % 1. Ligament

X 2. Bone
v 3. Nose
< 4 Tendon
Question ID : 94891110793
Option 11D : 94891143169
Option 2 ID : 94891143172
Option 31D : 94891143170
Option 4 ID : 94891143171
Status : Answered
Chosen Option: 3
Q.93 fe fy gz e #, HAND &1 7194 for@m =mar § 3T LEG =1 536 for@r = &, ar 36 $e smr
# LEAD & 7 v forgr sreem?
ans (1. 5431
< 2 5413
v': 5314
< 4 5341
Question ID : 94891110796
Option 11D : 94891143181
Option 2 ID : 94891143184
Option 31D : 94891143183
Option 4 ID : 94891143182
Status : Answered
Chosen Option: 3




Q.94 frr v Fuat HR st F AATEE wE R 990 R g ¥ Fi F ey aifds =9 @ Fue @
el e B7

e
A. FT T, TE E
B. T Tg, FH
o

A. TS TE, AFE
B. IS oIRY, T T &

Ane X1 gr ar sy A Ir e B 9ol #aT B
X 2 Faer Ty A 99T AT 2
Vi o ar sy A it 7 & ey B g T B
X 4 Faor Ty B 9T AT 2

Chosen Option

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
03

94891110780
94891143120
94891143117
94891143119
94891143118
Answered

Q95 35 fwew @ T FY, TrEH AW 9T F T FEY S gW TG F EA 9@ F L
TOTHGE ; e o o9y @ ?

Ans X1EEF
X 2 3T
< EmE
v e

Chosen Option

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
03

94891110801
94891143202
94891143201
94891143204
94891143203
Answered




Q.96 & o A= F eAAEE vlew IR T v W & 3eaw Efsw

T FHAET # 200 wH=rr ¥, Srad @ 130 sHE=iE F 9rw $EReT B 3 100 & 91" SuerT ¥ e

60 ¥ 9TF e 3t derT ot F
AN T frde FH=ET & 998 SEe S9E 7

Ans of 140
< 2 160
X 3. 60
/<4100
Question ID : 94891110799
Option 11D : 94891143195
Option 2 ID : 94891143196
Option 3 ID : 94891143194
Option 4 1D : 94891143193
Status : Answered
Chosen Option : 2
Q97 s aw wwad & ok ¥ Ford @ e Feh e ¥ T § S v s ¥ s e @ aw
eyl
Ans - X 1150
v 2175
X 3. 250
< 4 300
Question ID : 94891110797
Option 11D : 94891143186
Option 2 1D : 94891143188
Option 3 ID : 94891143187
Option 4 ID : 94891143185
Status : Answered
Chosen Option : 4
Q.98 X, ws Fr o F 500 m IF F MY, BT 200 m FfEoT F1 AT &R 50 m 9fEE F AT BT 50 m
3o # 3R, 7 50 m af¥sm 1 T diw 3EF T 150 m IoaT B HT e X FHr o T R
2T 3 e fomm # &2
Ans
< 1. 350 m, Q‘q"“
X 2 200 m, 3c
V'3 400 m, 9=
< 4 400 m, gfe=H
Question ID : 94891110802
Option 1 1D : 94891143207
Option 2 ID : 94891143208
Option 3 ID : 94891143206
Option 4 ID : 94891143205
Status : Answered
Chosen Option: 3




rm e forgr swem?

Q.99 uw fafirsz Fesmwr #, ROD AR VET 1 F#er TRH AR XHX for@m smar §1 36 &2 srar & SAP &t

Ars 1. UCR
<2 TKS
v = UDT
< 4 VMU
Question ID : 94891110778
Option 1 ID : 94891143109
Option 2 ID : 94891143110
Option 31D : 94891143112
Option 4 ID : 94891143111
Status : Answered
Chosen Option : 4
Q100 select the option that will fill in the blank and complete the given series.
5,10, 8,32, 30, 180,
Ans X134
< 2 60
Vs 178
X< 4 360
Question ID : 94891110783
Option 11D : 94891143129
Option 2 ID : 94891143130
Option 31D : 94891143131
Option 4 1D : 94891143132
Status : Answered
Chosen Option : 2
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